Handout 4: Not All Equations Are Created Equal- A

1. Solve 55 + 45 =2, 6. Solve the inequality z? — 3 > .

g =B and g = =3 —oo<x<1_;/ﬁand1+§/ﬁx<oo
4 1 = :

2. Solve —a* + 422 — 3 = 0. 7. Solve the inequality —a? + 42 > 3.
a:::izlandx:j:\/g. l<x<3.

3. Solve x + ﬁ =1. 8. Solve the inequality 222 + 7z — 2 < 2.
z=0andz=1. —4<z<!

4. Solve x — 2/ +1=0. 9. Solve the inequality 6z < 3% — 9.
r=1. —o<r<-land3 <z <oo

5. Solve the inequality —22% +3x+1 < 0.  10. Solve the inequality —2? — 2z + 1 > 0.

00 < < T and BT < < —1-V2<z<—-14V2
Q.

(©2013 Shmoop University, Inc. All rights reserved. For classroom use only. Want to print this out for your
classroom? Go for it. All other reproduction and distribution is prohibited.

http://www.shmoop.com/algebra-ii/
Shmoop will make you a better lover (of literature, math, life...)



